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— &g S 0584 X 1,000 5,000 A 4,000
SHFX 1,700,252 1,695,612 4,640
M 2 2ot 2e] 359,489 354,489 5,000
201 Let2d] 320,990 315,990 5,000
01 At 2teltl 114,840 109,840 5,000
Ogalag (s, =4) 86,765 81,765 5,000
THEHE 29 A& 84,510 84,870 A 360
301 LAz 0 360 A 360
09 BAAHIE &S 0 360 A 360
O3 LA HFAB 4 0 360 A 360
NSetr K& 127,565 129,150 N1,585
=) 9,691 9,691 0
s 117,874 119,459 A 1,585
oz XI& 127,565 129,150 N1,585
& 9,691 9,691 0
s 117,874 119,459 A 1,585
301 et d = 26,915 28,500 A 1,585
< 945 945 0
s 25,970 27,555 A 1,585
02 ¥et=Lstit= 1,915 3,500 AN 1,585
OolEXH &3 1,915 3,500 A 1,585
Nageaas XN 345,400 349,400 A 4,000
=) 2,643 2,643 0
i 342,757 346,757 A 4,000
H2Mote2s =28 18,000 22,000 24,000




2N
X ZH -
L= B

el

SN P SA(EN) - MBAY - BES 0] &k o4 p/E-E" Hl D&
207 & O] 18,000 22,000 A4,000
01 284 18,000 22,000 A 4,000
OHM2MOtS23 ASAE 2= =AM 18,000 22,000 A 4,000
AQE 2SS4 P28 2,509,789 2,739,673 A 229,884
= 16,047 16,047 0
Xl 143,780 143,780 0
=) 51,880 61,420 A 9,540
i 2,298,082 2,518,426 N 220,344
HHFB e =& 738,287 753,945 A 15,658
= 11,475 11,475 0
s 726,812 742,470 A 15,658
FEANAE 2= 2 72 422,190 436,840 A 14,650
207 O] 92,350 107,000 A 14,650
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OMNQEE F&EI &Al 50,350 65,000 A 14,650
SHOoIX 29 ¥ 2etdE 59,565 60,573 A 1,008
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201 LEt2E | 88,276 107,356 219,080
= 44,138 53,678 A 9,540
[ia 44,138 53,678 A 9,540
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A 29 101,902 108, 152 26,250
< 3,750 1,000 2,750
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OMOIHRE2H 2S(F0l, B8 ) 0 9,000 A9,000
405 TtobFH SHI 51,800 49,050 2,750
=) 2,750 0 2,750
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= 2,334,800 2,311,560 23,240
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